
1 
 

INTERMEDIATE EXAMINATION – 2020 (ANNUAL) 

Model Set 

Home Science )

Instructions for the candidates :- 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

2- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- mÙkj nsrs le; ijh{kkFkhZ ;FkklaHko 'kCn&lhek dk /;ku j[ksaA 

While answering the questions, candidate should adhere to the 

word limit as far as practicable. 

4- bl iz’u dks /;kuiwoZd i<+us ds fy, 15 feuV dk vfrfjDr le; fn;k x;k 

gSA 

15 minutes of extra time has been allotted for the candidate to 

read the questions carefully. 

5- ;g iz’u&i= nks [k.Mksa esa gS]  ,oa  

This question paper is divided into two sections : Section-A and 

Section-B. 

Time :- 3 Hours 15 minutes 
le; % 3 ?kaVs 15 feuV 

Full Mark - 70 
iw.kkZad & 70 

319 

Click Here To Download Bihar Board Class 12 Model Papers (2020)

Rames
Area Highlight
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6- [k.M&v esa 42 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 35 iz’uksa ds mÙkj nsuk 

vfuok;Z gSA ¼izR;sd ds fy, 1 vad fu/kkZfjr gS½ vxj ijh{kkFkhZ 35 iz’uksa ls 

vf/kd iz’uksa dk mÙkj nsrs gSa rks izFke 35 mÙkjksa dk gh ewY;kadu fd;k tk;sxkA 

oLrqfu"B iz’uksa dk mÙkj miyC/k djk;s x;s OMR&mÙkj i=d esa fn;s x;s lgh 

o`Ùk dks dkys@uhys ckWy isu ls HkjsaA fdlh Hkh izdkj ds OgkbVuj@rjy 

inkFkZ@CysM@uk[kwu vkfn dk OMR ’khV esa iz;ksx djuk euk gS] vU;Fkk ijh{kk 

ifj.kke vekU; gksxkA 

In Section-A, there are 42 objective type questions, out of which 

answer any 35 questions (each carrying 1 marks). If more than 35 

questions are answered, the first 35 answers will be evaluated. 

Darken the circle with black/blue ball pen against the correct 

option on OMR Answer Sheet; provided to you. Do not use 

Whitener/Liquid/Blade/Nail on OMR Sheet, otherwise the result will 

be invalid. 

7- [k.M&c esa 18 y?kqmÙkjh; iz’u gSa] izR;sd ds fy, 2 vad fu/kkZfjr gS] ftuesa ls 

fdUgha 10 iz’uksa ds mÙkj nsuk vfuok;Z gSA izR;sd iz’u ds fy, 2 vad fu/kkZfjr 

gSA blds vfrfjDr  esa 06 nh?kZ mÙkjh; iz’u Hkh fn, x, gSa] ¼izR;sd 

iz’u ds fy, 05 vad fu/kkZfjr gSaA½ ftuesa ls fdUgha 3 iz’uksa ds mÙkj nsuk 

vfuok;Z gSA  

In Section-B, there are 18 Short answer type questions (each 

carrying 2 marks), out of which any 10 questions are to be 
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answered. Apart from this, there are 6 Long answer type questions 

(each question carries 5 marks), out of which any 3 of them are to 

be answered.  

8- fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited.

fuEufyf[kr 42 oLrqfu"B iz’uksa esa ls fdUgha 35 iz’uksa ds mÙkj nsaA 

Answer any 35 out of the 42 objective type questions given below: 

iz'u la[;k 1 ls 42 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls 

flQZ ,d lgh gSA buessa ls flQZ 35 iz’uksa dk mÙkj nsuk vfuok;Z gSA vius }kjk pqus x;s 

lgh fodYi dks OMR&’khV ij fpfUgr djsaA     (35x1=35) 

Question No.- 1 to 42 have four options, out of which only one is 

correct. Answer any 35 questions and mark your selected option, on the 

OMR-Sheet.          (35x1=35)  

1- ekuo 'kjhj esa lcls NksVh xzafFk dkSu&lh gS \ 

A- ;d̀r     B- Fkk;jkbM 

C- fi;w"k     D- ykj 

Which is the smallest gland in a human body? 

A. Liver    B. Thyroid  
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C. Pituitary    D. Salivary 

2- var%Lkzkoh xzafFk;ksa dk dsUnz gS & 

A- efLr"d     B- vk¡[k   

C- ukd      D- xyk 

…………….. is the centre of endocrine glands. 

A. Brain     B. eye 

C. nose     D. throat 

3- buesa ls dkSu gkeksZu dsoy iq:"kksa esa Lkzkfor gksrk gS \   

A- ,UMªkstsal     B- FkkbjkWfDlu   

C- izksySfDVu     D- ,LVªkstu 

Which of these hormones is secreted only in men? 

A. Androgens    B. Thyroxine 

C. Prolactin     D. Oestrogens 

4- vaMxzafFk dgk tkrk gS & 

A- ò"k.k dks     B- f’k’u dks   

C- 'kqØk’k; dks     D- vf/kò"k.k dks 

………. is called egg gland. 

A. testes     B. Pennis   

C. Seminal Vescicle   D. Epididymis 
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5- Xkzkeh.k {ks= esa fdl izdkj dk iznw"k.k lcls vke gksrk gS\ 

A- ok;q      B- ty   

C- /ofu      D- buesa ls dksbZ ugha 

Which Type of pollution is most common in rural areas? 

A. Air      B. Water 

C. Noise     D. All of these 

6- futh LoPNrk ds vHkko esa fuEu esa ls dkSu lh chekjh gksrh gS\ 

A- Mk;fj;k     B- Qysfj;k  

C- ân; jksx     D- e/kqesg 

Which of the following diseases occur in the absence of personal 

hygiene? 

A. Diarrhea     B. Filaria 

C. Heart disease    D. Diabetes 

7- 'kkSpky; fuekZ.k djus dk lcls egRoiw.kZ mís’; D;k gS \ 

A- yksxksa dks lqfo/kk iznku djuk  B- izfr"Bk ¼LVsVl½ iznku djuk  

C- ey&ew= ls ekuo laidZ dks jksduk D- buesa ls lHkh 

What is the main objective of construction of Toilets? 

A. Facilitating the people   

B. providing status 
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C. preventing human contact with feces     

D. All of these 

8- buesa ls dkSu chekjh ok;q iznw"k.k ls gksrk gS\ 

A- e/kqesg     B- vLFkek  

C- VkbQkbM     D- ihfy;k 

Which of these diseases is caused by air pollution ? 

A. Diabetes     B. Asthma 

C. Typhoid     D. Jaundice 

9- LoPN ty gksrk gS ------------------- 

A- jaxghu     B- Loknghu  

C- xa/kghu     D- mi;qZDr lHkh 

Pure water is ……………… 

A. Colourless    B. tasteless 

C. odourless     D. All of these 

10- vkstksu ijr fdl izdkj ds iznw"k.k dh otg ls izHkkfor gks jgk gS \ 

A- ty iznw"k.k     B- ok;q iznw"k.k  

C- /ofu iznw"k.k     D- buesa ls dksbZ ugha 

The ozone layer is being affected by which type of pollution? 

A. Water pollution    B. Air pollution 
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C. Sound pollution    D. None of these 

11- gSTkk dh chekjh fdlds lanw"k.k ls gksrh gS \ 

A- ty      B- Hkkstu  

C- mi;qZDr nksuksa    D- nksuksa esa ls dksbZ ugha 

Cholera disease is caused due to contamination of - 

A. Water     B. Food 

C. Both A & B    D. None of the above 

12- dkuksa ds lquus dh 'kfDr fdl iznw"k.k ds dkj.k de gks tkrh gS \ 

A- ok;q iznw"k.k     B- /ofu iznw"k.k 

C- feV~Vh iznw"k.k    D- ty iznw"k.k 

Hearing power of the ears is reduced due to which pollution ? 

A. Air Pollution    B. Sound Pollution 

C. Soil Pollution    D. Water Pollution 

13- Xkksyd`fe ¼jkmaMoeZ½ jksx fdlds dkj.k gksrk gS \ 

A- feV~Vh     B- Qy 

C- lCth     D- vukt 

Roundworm disease is caused by - 

A. Soil      B. fruit 

C. vegetable     D. cereals 
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14- fuEu esa ls dkSu Hkkstu dks ikSf"Vd rRoksa ls le`) cukus dh fof/k gS \ 

A- feJ.k     B- [kehjhdj.k 

C- vadqjhdj.k     D- buesa ls lHkh 

Which of these is a method of enrichment of food with nutrients? 

A. Combination    B. Fermentation 

C. Germination    D. All of these 

15- buesa ls dkSu mtkZ ¼’kfDr½ nsusokyk iks"kd rRo ugha gS \ 

A. dkcksZgkbMªsV     B- olk 

C- izksVhu     D- [kfut yo.k 

Which of these is not an energy giving nutrient? 

A. Carbodydrate    B. Fat 

C. Protein     D. Minerals 

16- ,x ekdZ fdu inkFkksZa dh xq.koÙkk ,oa 'kq)rk r; djrk gS \ 

A- is; inkFkZ     B- bysDVªkWfud inkFkZ 

C- d`f"k inkFkZ     D- buesa ls lHkh 

AGMARK is used to determine the quality and purity of which of 

these products ? 

A. Drink     B. Electronic items 

C. Agricultural commodities  D. All of the above 
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17- ,d miHkksDrk izHkkoiw.kZ [kjhnnkjh gsrq lgk;rk izkIr dj ldrk gSA 

A- foKkiu }kjk    B- vU; O;fDr;ksa ds vuqHko }kjk 

C- futh vuqHko }kjk    D- buesa ls lHkhA 

A consumer can get help for effective shopping from - 

A. advertisement    B. through others experience 

C. through personal experience D. All of these 

18- xHkkZoLFkk dk y{k.k gS & 

A- izkr% dky esa th dk fepyuk  B- ckj&ckj ew= dk R;kx gksuk 

C- ekgokjh dk can gksuk   D- buesa ls lHkh 

The symptom of pregnancy is - 

A. Morning Sickness   B. Frequent Urination 

C. Missed menstrual period  D. All of these 

19- tUe ds le; LoLFk uotkr f’k’kq dk otu gksrk gS & 

A- 2&2-5 fdyks    B- 3&3-5 fdyks 

C- 4&4-5 fdyks    D- 5&5-5 fdyks 

The weight of a healthy newborn at the time of birth is - 

A. 2 - 2.5 kg     B. 3 – 3.5 kg 

C. 4 – 4.5 kg     D. 5 – 5.5 kg 

20- uotkr f’k’kq dks 48 ?kaVs ds vanj dkSu&lk Vhdk yxk;k tkrk gS \ 
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A- Mh0ih0Vh0     B- ch0lh0th0 

C- iksfy;ks     D- ,e0,e0vkj 

Which vaccine is given to a new born within 48 hours of birth? 

A. DPT     B. BCG 

C. Polio     D. MMR 

21- Ekk¡ ds Lru ls fudyus okyk igyk nw/k D;k dgykrk gS\ 

A- foVkfeu     B- izksfVu 

C- dSfYl;e     D- dksyksLVªe 

The first milk of mother’s breast is called -   

A. Vitamin     B. Protein 

C. Calcium     D. Colostrum 

22- Efgykvksa dks izksVhu dh vf/kd vko’;drk dc gksrh gS \ 

A- ckY;koLFkk esa    B- fd’kksjkoLFkk esa 

C- xHkkZoLFkk esa     D- ò)koLFkk esa 

When do women need more protein ? 

A. Childhood    B. Adolescence 

C. Pregnancy    D. Old age 

23- futZyhdj.k gksus ij cPpksa dks D;k fiyk;k tkrk gS \ 

A- vks0vkj0,l0 ?kksy    B- mcyk ikuh 
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C- pk;      D- uhacw ikuh 

What are given to children when suffering form de-hydration ? 

A. Solution of “ORS”   B. boiling water 

C. Tea      D. Lemonade 

24- izkFkfed jax fdrus izdkj ds gksrs gSa\ 

A- 3      B- 4 

C- 5      D- 6 

How many types of Primary Colours are there? 

A- 3      B- 4 

C- 5      D- 6 

25- vkarfjd lTtk ugha dh tkrh gS &  

A- ?kj esa     B- dk;kZy; esa 

C- nqdku esa     D- lkoZtfud LFky ij 

Interior decoration is not done at - 

A. home     B. office 

C. shop     D. public place 

26- x`g lTtk ds eq[; lk/ku dkSu&dkSu ls gSa \ 

A- QuhZpj      B- insZ 

C- ltkoV dh oLrq,¡    D- buesa ls lHkh  
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What are the main means of home decoration ? 

A. Furniture     B. Curtain 

C. Decorative items   D. All of these 

27- dyk ds rRo gSa & 

A- js[kk      B- vkd`fr 

C- jax      D- buesa lHkh 

The element of art is - 

A. line      B. shape 

C. colour     D. All of these 

28- buesa ls dkSu ekSfnzd vk; gksrh gS \ 

A. osru      B- isa’ku 

C- fdjk;k     D- buesa ls lHkh gS 

Which of these is a monetary income? 

A. Salary     B. Pension 

C. Rent     D. All of the above 

29- cpr t:jh gS D;ksafd & 

A- ;g ladVdkyhu iw¡th gSA 

B- ;g o`)koLFkk esa dke vkrh gSA 

C- cpr }kjk ifjokj dh vko’;drkvksa dh iwfrZ gksrh gSA    
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D- mi;qZDr lHkh 

Saving is important because - 

A. It is critical capital    

B. It helps in old age 

C. It meets the needs of the family 

D. All of these 

30- fdl psd dh jkf’k dk Hkqxrku udn ugha fd;k tkrk gS cfYd O;fDr ds uke 

ds [kkrs esa tek gksrk gS \ 

A- [kqyk psd     B- vkns’kd psd 

C- js[kkafdr psd    D- buesa lHkh 

Which cheque amount is not paid in cash but deposited in the 

account of the person’s name - 

A. Open cheque    B. Order cheque 

C. Crossed cheque    D. All of these 

31- oL=ksa ds pquko dks izHkkfor djus okys rRo gSa & 

A- okg~; vkd`fr    B- jax 

C- diM+ksa dh xq.koÙkk    D- mi;qZDr lHkh 

The factor which influences the choice of clothes is  

A. External shape    B. Colour 
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C. Quality of clothes   D. All of these 

32- buesa ls dkSu izkf.kt /kCck gS \ 

A- nw/k dk nkx     B- pk; dk nkx 

C- Qwy dk nkx    D- lCth dk nkx 

Which of these is an animal stain ? 

A. Milk stain     B. Tea stain  

C. Flower stain    D. Vegetable stain 

33- oL=ksa dk p;u ,oa [kjhnnkjh fuEu esa ls fdl ij fuHkZj djrk gS \ 

A- iz;kstu      B- ewY; 

C- _rq      D- mi;qZDr lHkh 

Selection and purchasing of clothes depend on which of the 

following? 

A. Purpose     B. Cost 

C. Season     D. All of the above 

34- {kkj ds laidZ esa vkus ls Åu ds rUrq & 

A- fu[kj tkrs gSa    B- u"V gks tkrs gSa 

C- etcwr gks tkrs gSa    D- dksbZ izHkko ugha iM+rk gSA 

When wool fibers come in contact with base it - 

A. Flourishes    B. gets distroyed 
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C. gets stronger    D. has no effect 

35- fdl izdkj ds oL=ksa dk j[k&j[kko lgt gksrk gS\ 

A- Åuh oL=     B- js’keh oL=  

C- js;ku oL=     D- lwrh oL= 

What type of clothing is easy to maintain ?  

A. Woolen      B. Silk 

C. Rayon     D. Cotton 

36- ,ifyd dk dk;Z diM+ksa ij dSls fd;k tkrk gS \ 

A- diM+s ds Åij diM+s ls fMtkbu cukdj    

B- /kkxk ls fMtkbu cukdj   

C- A vkSj B nksuksa 

D- buesa ls dksbZ ugha 

How is appliqué work done on the clothes? 

A. Making design of the clothes over the cloth    

B. designing with the thread  

C. A & B both 

D. None of these 

37- dhM+s ls cuus okyk js’kk gS & 

A- js’ke      B- Åu 
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C- ukbykWu     D- js;ku 

The fibre made by worm is - 

A. Silk      B. Wool 

C. Nylon     D. Rayon 

38- fuEu esa ls dkSu&lk xq.k lwrh oL=ksa esa gksuk pkfg, \ 

A- dM+kiu     B- vojks/kd 

C- vo’kks"kd     D- buesa ls dksbZ ugha 

Which of the following quality should be in cotton clothes? 

A. Hardness     B. emphractic 

C. Absorbent    D. None of these 

39- fdl jax dks xeZ jax dgrs gSa \ 

A- lQsn     B- ihyk 

C- gjk      D- yky 

Which colour is called warm colour? 

A. White     B. Yellow 

C. Green     D. Red 

40- fuEu esa ls dkSu okuLifrd /kCck ugha gS \ 

A- jlnkj lCth     B- Qy 

C- dkWQh     D- Qwy 
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Which of the following is not a vegetable stain ? 

A. Juicy vegetable    B. Fruits 

C. Coffee     D. Flowers 

41- Ikzkdf̀rd rUrq gS & 

A- ukbykWu      B- ikWfyLVj 

C- js;ku      D- lwrh 

…………. is natural fibre. 

A. Nylon     B. Polyester 

C. Rayon     D. Cotton 

42- fdu {ks=ksa ds fodkl esa x`g foKku ;ksxnku ugha djrk gS\ 

A- ikfjokfjd Lrj ds mRFkku esa  B- iks"k.k ds {ks= esa 

C- jkstxkj ds {ks= esa    D- dEI;wVj ds {ks= esa 

In which areas of development, Home Science does not 

contribute? 

A. Family upliftment   B. In the field on nutrition  

C. In the field of employment  D. In the computer field. 

 

 

 



18 
 

Section-B (Non-Objective Type Quesitons) 

Short Answer Type Questions

iz’u la[;k 1 ls 18 rd y?kq mÙkjh; gSaA buesa ls fdUgha 10 iz’uksa ds mÙkj nsaA izR;sd iz’u 

ds fy, 2 vad fu/kkZfjr gSA vius mÙkj yxHkx 40&50 'kCnks esa nsaA   (10x2=20) 

Question no. 1 to 18 are Short answer type. Answer any 10 questions. Each 

question carries 2 marks. Answer your questions in about 40-50 words.  

(10x2=20) 

Define the following - 

1- bafnz;k¡           2 

Sense organs 

2- vaMk’k;           2 

Ovary 

3- lkekftd LoPNrk         2 

Social Cleanliness 

4- ok;q iznw"k.k          2 

Air pollution 

5- dksyksLVªe          2 

Colostrum 
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6- larqfyr Hkkstu          2 

Balanced diet 

7- dqiks"k.k           2 

Malnutrition 

8- ,x ekdZ           2 

Agmark 

9- [kehjhdj.k          2 

Fermentation 

10- thouj{kd ?kksy         2 

Life saving solution 

11- /kCcs           2 

Stains 

12- iznwf"kr ty 

Polluted Water 

13- oL= ifjlTtk          2 

Finishing of Clothes 

14- /kqykbZ e’khu          2 

Washing machine 

15- Lojkstxkj          2 

Self employment 

16- diM+ksa dh okf"kZd ns[kHkky        2 
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Annual Care of Clothing. 

17- vadqjhdj.k          2 

Germination  

18- f’k’kq lnu         2 

Creche 

Long Answer Type Questions

iz’u la[;k 19 ls 24 rd nh?kZ mÙkjh; iz’u gSaA bl dksfV ds izR;sd iz’u ds fy, 5 vad 

fu/kkZfjr gSaA fdUgha 3 iz’uksa ds mÙkj nsA vius iz’uksa ds mÙkj yxHkx 80 ls 100 'kCnksa esa nsaA

           (5x3=15) 

Question no. 19 to 24 are Long answer type questions. Each question 

carries 5 marks. Answer any 3 questions. Answer your questions in about 80 

to 100 words.         (5x3=15) 

19- gkeksZu D;k gS\ gekjs 'kjhj dks LoLFk j[kus esa bldh D;k Hkwfedk gS \  5 

What is hormone? What is its role in keeping our body healthy? 

20- Hkkstu vifeJ.k D;k gS\ mlls LokLF; ij iM+us okys izHkkoksa dk o.kZu djsaA 5 

What is food adulteration? Describe its effects on health. 

21- ,d uotkr f’k’kq dh ns[k&js[k vki fdl izdkj djsaxh \    5 

How would you look after/take care of a new born? 

22- i;kZoj.k ds iznw"k.k ls vki D;k le>rs gSa\ blds izdkjksa dk o.kZu djsaA  5 
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What do you understand by environment pollution? Describe it. 

            5 

23- ?kjsyw ctV fdls dgrs gSaA blds ykHk dk o.kZu djsaA    5 

What is domestic budget? Describe its benefits. 

24- oL=ksa ds ns[kjs[k ,oa mlds laj{k.k dh fof/k dk o.kZu djsaA   5 

Describe the method of care and protection of clothes. 




